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1) What general concept do we learn from the mo9, " P22 onnar oown"?

2) When does this apply?

3) How do we learn this (limitation) from the above p105?

4) What does 112Kk ' learn from this p1osd (‘own)?

5) Explain why this does not fit with our x12?

6) '01n answer that one cannot learn out the 17 of 17ax ' from the p105 of oow which is written

by the n7py. What is the first reason?

7) What is the second reason?

8) According to 'own, from where does 172 ' learn out his 1°7?

9) Why do the above two reasons why he cannot learn it out from the 77°py not apply there?

10) According to the xipon of 'own, from where do we learn out 5"n1?
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